Math 160:  9.2  Inferences About Two Proportions
Test statistic:
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     where 
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Confidence interval:
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1.
 892 smokers participated in an experiment that examined the effectiveness of the nicotine patch and the effectiveness of an anti-depressant, Zyban.  The subjects were randomly assigned to 4 treatment groups


1.  placebo—had a patch with no nicotine and a sugar pill that resembled Zyban


2.  patch—had a nicotine patch, but also took a sugar pill that resembled Zyban


3.  Zyban—took Zyban, but also wore a patch with no nicotine


4.  Zyban + patch—took Zyban and also had a nicotine patch

The results were as follows:  

36 of 223 people in group 1 quit smoking

38 of 223 in group 2 quit 

54 of 223 in group 3 quit, and 

51 of 223 in group 4 quit

A.  Using the 0.05 level of significance, test to see if there is significant evidence of a difference in percentage who quit among groups 1 and 2.  What does this say about the effectiveness of the patch?

B.  Based on the result from part A, would a 95% confidence interval for the difference contain the value 0?

C.  Now see if a significant difference exists between Placebo and Zyban groups by creating a 95% confidence interval for 
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  Based on your results, do you think Zyban gets prescribed for smoking?
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